~ Honors Algebra 2

2" Semester Exam Review

Name

Key

11 Divide.

(X +Bx2 - Tx+2)+(x+2)
2li s -1 2

J -2 -6 26

i 3

-3 25

28/
X14- Ax—\3 + (x¥2)

2. Find the quotient.

(2x* +17x* +23x - 42) + (2x +7)
Y & Sx =Ko

el | 23 + o 23 %~

~ D% I \\, Xl

L Q= +23%
- \sz‘ + BEXK
7 - 2w Yz
Q

3. Subtract. (922 +32z-7)- (42 -8z+9)

QE Y3z —-q—z: 4+ %2 -9

(527 4+ \2= — WL

4, Multiply. (3x+8)(4x -2)(Bbx+7)

( 120 o & B2 — 1) (S 1)
(V25 + 2w —1o) (Sx ¥
Q Q‘;’s 2 Yoy’ FIBZx-u

(EOC+ 214 L w2x — 2

2
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2 (P = ysH=o
20 (F—1 5=
v (A VDX-D CXZ—Q"Q

= KNES XSV E Y=

] . ( xzy—s) . y\‘z, \r3 s 6.  Simplify. '\(mziﬁ)é . (—4a5b6 )_3
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7. Solve. 3x® +1Fx =18x° 8. Write the answer in scientific notation,

(3.2x10°)(7 x10°%)

(3.2 x 1) (o x 1)
a4 X Kt
N DU R AR xR




9. Factor completely.  2z* - 1250 10.
2 (24— L2s)
o (2> r2s)(2*-25)

C o (72 29) Q%“S)C&%ST))

11, Factor completely. | 12.
x° —2Bx% +64x%* -1600

Factor completely. d*—-7d°+10

Find all the factors, zeros, and x-intercepts.
f(x)=x*-6x°+4x-24
(X5 4-25x3) + (LhdE =) 00 = OG-Lx®) r (x4

—

_ 2 = 3 (x—e) F Ul

: , - ’ e
( (_507%3(\&53 (X+4) LXZ"-LLx-H\Q Zeved Y=l Y= i o

W

NEAL K (IR

13. Find all the factors, zeéros, and x-intercepts. | 14.

f(x)=x*+2x* -Bx* -12x -4

Find all the factors, zeros, and x-intercepts.
f(x)=x*+5x"+4x* +20x
¥ dees ey Soader tuse cele dalld £ = O ASE 4 (4 e)

| = B P Ux (¢+S)
21\ 2 -s - -d G s -
-2 © = (x+5)Lx +x)
o 5 = g (e (YY)
N AN
i oy - Fﬁpﬁ_}f’b\'& LXK QX'*-S) LKL+LI\
Y —2Zx —\ %&V@:"_ Y=o X= -5 X=% Z:L
25y —ahi) viny . o) ¢SS
Z. D
22y, 2x21¢ -
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15, Find the value of k so the remainder is 7. [16. Find the value of k so the remainder n@
(X} +kx? -9 +(x+2) (x*+3x+3)+(x-k)
V-2 -2xvd Wy v - K Y A3

b X-2 -zved 4p-1 \ Y3 -3
H-r = KEABYL v 3=
4K =24 Y3 A 2=

K=t P e
K=-2 ¥=-1 *
L_-,I—\_/\_J




17. Degree: Even
Leading Coefficien‘r: Negative

How many Relative Maxima: Tx

How Many Relative Minima: =

Least Degree of the polynomial: S

Real Zeros: —2 DR , ©, | (D&)

Domain and Range:  PDeym /\R

Known factors based on the real zeros: C\(‘\’Z-) 00 (X-\) o

RC‘)(\ gt ’R

18.  Werite a polynomial function of least degree

with a leading coefficient of 1 given the
following zeros: —4, 7—\/5 N 14 r§

19. Write a polynomial function of least degree

with a leading coefficient of 1 given the .
following zeros: O (double), 3+2i , R—-do

Qum: N-H + s €= W - v

1
e (7-BYOE) = p
Opgqu+q4)(x+u3

20.

’Pv N L?J\—fl:\y LB _2—'\.) =

P]O p

(XF =% +3) ()W)

L) = ¥ — WG e ryE

Given the functions, perform the indicated operations.

f(x)=x+8 g{x)=x°-9 h(x)=2x+1

(9] [9oF<h](x)

qay= (" -9 WO = 2341

a) b) c) f(x)- g(x)

(N2 — (OF-9)

= -9 Fxsny= X+ ¥ VAR — X7 g
= O = 2 5 S -,
Wiy = 2( ¥ q(2xsad= (2xya)y -9 —x T ATy
= A} = UKE F3lex gv-9
- RN
1249 R : -4 4
21.  Simplify. 3_3430—b N x 3+3x3 X 3E BT
. 272 22. Simplify. —— —_—
3X_2 X"ZIB
Noatb® 2e R ENE
S e (3 v ) x
A
w5 b3y
3{x + 3%




23, simplify.  JUx® 24, simplify.  VA9x? +56x +16
5 [T N Cx +)Cixesd)
5{ w'= N (i yaA)®
s
h.S
QP
2
G
2
25.  Solve. \/2xz+1 =x+5 ) 26. . Solve. 1(2x+4)3 :lé
NZx ¥y = (&S 3 3
243 _
2% A\ = YT riox el Cxsd) ™ =6
O= ¥& & 3% ¥ 2% SN@ew =
-2 = NG —dCHED B{ZXvw = =Y
pASY - RS R WA
~g N -2 2 rd=Ly 2l G
z . T = Lo 2% = — o8 v
—gtt-\_(,ﬁi__, -k-\tz_pri\ N = B Y =Ry
ISl €S PREY) |
27.  Sove. Bx+6+3=3x+3+4 28. Sove. Vk+25-Vk>5
VExre = N3xr3 ¢ ) Rezs > (X o (%
NBora = (Bxrz aV)Eak ) Kres? kv 2Bk +5
Ry pa= BUr D ¥ 2{B3 +| KA2S 2o 20 > 2 {5k |
2%y = 2 N3%x3 XY 2 ~28 \o % ¥ae
= 3+ el 2o o> SK
YT AV = B3R e F
W= X L= -25
(x~2) V)=
X=Z2nl X ==y .
' F4
29.  Solve. \/X"‘ 10 +‘/X— 6<8 | 30.  Find the inverse of f(x)= 16(X+6) -9
Grore LS S RS X Y= G ()9
%2 A* Wit LGu — e id-G v X NG = L (g st
Yela 2 O mue < “r—\u X LA P
3{? \-DX' 5 > \(-—Kp Lo
A > X—e A
- Y {%+q .
F T T ¥ 1SN SIS
-\ L Y t— > —
) \ =AYy | o> {Xt5 = 9
o Eul\g—\ AF'_\(%): £ X-‘;‘% — e \




253 _6 32.  Verify algebraicallf that the following
31, Find the inverse of g(x)= 9 functions are inverses of each other
K = if;—\*’ qu {z= f(x)=3x+9 g(x):%x——S
-3
AGu= 242 {2z flgu)= 3(Ex-3)+9
= X —94+9
. N Bah =3 )
Q\g&z——;w 9 2 . 8(’9‘&&\3 = %B’“’q) -3 ‘\)YD\!‘-.S "ssf\&-f)
= Y3 { — _ VA os e b
e G I Bk ke = W A3 v dridenseal
s ) ¥ =
33. Use log 7 ~0.8856 and log ;4 =0.6309 to evaluate the following
a) Ioggz b) log, 28 c) log, 324 d) Iogg%’l—2
\oarq 1 Vega d loga (79 o (4 4:) loga 2/
e R s 5
03; L:b’suc. loqa v egad logaqr lsas AHsnat joga 28 —hga 9
o e ™ «
23 o IS5 + k@‘gc:,eg Py - - 6309 |-Gl — |
o 25491
(o250 (5 (G ) (ogr)
34.  Evaluate 7% 9 Evaluate. [og
- Hq
36. Evaluate. log, (log, 5) 37.  Evaluate. log, 6i4
\QC}'% Q\) ] \
. 20T L
_ = \ ) i
Q 2—1 _ ;l—kp
38. Solve. log, (7x~-11)=log (2x +9) 39. Solve. log (x*+6x) =log,(x - 4)
MY~ = 2%+ 9 Wy = =4
Ox ~ W\ =9 VRS Al =
BEx = 29 (D) =
_ v
( X=4 g

— - K=—)
A
N~ ———




3x _ pAx+3
40.  Solve. Iogm(9x+5)—|ogm(x2—1)=—;— 41. \Solve. 32 =4 (x+3)
\ Cl_YJrS _ A 3 > = \Q'Sur
O3 YA K -2 }.‘K A \C}%g = (& R)\aM
L = GR¥$ = 2l § = Xlogd & Blad
U= sz:l:\ ‘x,; eI Bcles T —Xisyd = Blegd
- o B e (3\\:53‘5 — L*:.%L}) = B\Qﬁq
U T — Qe — R=D (3\"*-“33__\@%4) N = ‘\&%3)
(WX ¥3) R = o
42.  Solve. !094(5__ x)? =6 43 Solve. |099 X = llogg 64+l|099 81
4% = (5% T Vo
X \0%6\ Y= \ng 42 logq 3)
uodt = (5 | (4 -2)
Qe X — IO Y -
W= —% K= 3
1 45, Solve.
4. Solve. log, 16-log, - +log,5=log, 3x log,(3m+7) - log, (m + 4) = 2log, 6 — 3log, 3
S S — | | (2n+) 2~ 53
loqu C22D) =lsay 3% Elaiadl R Y
s 2
A= BDw 2 q
N = 3
= é_l_f}_ = | kozkg et
X= 555 ok X=10%H) Ame 2l = b e
' Sm= -5 C:ry:-:_\\/\\
46.  Graph y=|ogl(x+3).
o2 Y %
¥ y= (Y3 x [y A
Domain: (-5‘ e-b) - o : %
| \3 | -4 1
Range: (= =, =) Vo Neles O =5 |- 3 ‘1
x-intercept(s): (- .Y | = sy 3 | -2 £ l\ :
y-intercept(s): (g) —1.535‘(}) y- Les 3 \' \ o 1 \\\ -
Horizontal Asymptote(s): N svve T [— ' R
Vertical Asymptote(s): = -3 2| O
End Behavior: Y —» == -— - 25 \ %%5

X =D m = T2
>

——




Rewrite the following function in f(x)=ab*

form using properties of exponents. State if
it is a growth or decay exponential function.

f00= 4 (@ o

47,

- )= Y 2t a%‘r‘
IS L*ﬂ“ LY
EKV . ’Dtc_d.j _32_)‘&

48.  Rewrite the following function in (x) = ab”

form using properties of exponents. State if
it is a growth or decay exponential function.

L= 2 @D
2 (3

X

f(x) = 2(27)3

49.  Write an exponential function whose graph

50.  Write an exponential function whose graph

passes through the points ( 3 243) [O, l} passes through the poinTs:(l, 1.25) (3, 31.25)
3 \ = 28
_ 3% - —y (e = A28
-2 L\ 3 3.2 &
Ad3= o A4R= XL LS Cae 1S
: 1= L (& 1.256 = .25 \3 = 225
—za-u3 (734813 e g
: z = Yy
_7__’%‘3,—_# 21.28= 1-25b | .
TR = | 2%9=b%"
b*= Vg rS=%
b= VMg S=r
51.  Given the parent function f(x)= (l} , write the equation for the function g(x)} after each of the
6
following transformations.
a) Vertically stretch by a factor of 4, shifted down 3 units, and reflected over the y-axis.
1. _ ( —X 3
geo= 4 (&Y™ -
b)  Horizontally compress by a factor of — and reflected over the x-axis.
SX
q(x) = - (&)
c) Horizontally stretched by a facfor' of 8 and shifted down 3 units.
)= (% DI
52.  Graph f(x)=2""-3 Pareny §= 2% Q=27 -3 legd=0ANsg
¥ Sk v _- 3= -1y Ei?i =W
% Sl - deusn 3 L =
| Ty [ Y
Domain: L‘- =0y -=) .
-2 |-
Range: (—3, =2) .
‘ -\ 23N /
x-intercept(s): (2585, &) : y ,’
--2 z
y-intercept(s): (©, —S|) ? N & s =
Horizontal Asymptote(s): gj:—-g 4 > 4 1o
o 2 |-
Vertical Asymptote(s): wave_
End Behavior: ¥ —» — == > -3 A \ %g
X — Y- es 4 S




5. Groph ) 2| L “d Pavenr y= (B
. rap X)=|— -4 ' £
(=3 L s
29 Y ‘
Domain: (—- o= o ) -\ 3 ' - < l
Range: (—4 , ==) Sl -2 |~ \
{ i
x-intercept(s): (— B. 2GS , ©) 2 :,3‘; -2 | -3 @%: \ %
y-intercept(s): (<, —~ 3% i‘t} 3{ Vo ~ | -3 2/3 N
N
Horizontal Asymptote(s): Q= - o __3?)q ¢ i i =
Vertical A S AT -2
ertical Asymptote(s) e . \ 3 \751 -
End Behavior: X— == Q37> ~ Ay
K> - = j T
x Transformaﬂon Reflect the graph over the x-axis.
54. f(x) [ ] e
(L) 4y
\ @ ’w%&%
w0 :w“'w i l’ »
AR mEEN A S
¢. Complete the fable. ,’
L4
x v
-2 |-\ o ||
Y "9 73 FUs
55. f(x)=2* Transformation: Horizontally stretch by a factor of 3.
a. How did the coordinafes change? F /
4 .
f Jasinn ] /
E%l'& Iy /’/
IR b. What equation would result from = '
/s .i?‘_‘ : the transformation? - m%
‘:r:‘ 4 j%
c. Complete the table. 5@?
ki T 1O 13 1L |1

LA A I

56.

In 1992, 1,219 monk parakeets were observed in the United States. For the next 11 years, about

12% more parakeets were observed each year. Use the formula A=P(1+r)".

Q.

b.

c.

Write an exponential function showing the growth of the parakeets/ \_l = 219 ( i ‘&‘))L

In 1998, about how many parakeets were observed in the US? \J = \2\9(|-1Z _k‘a
= 24 Te -0 Y= 248

In what vear were 1,712 parakeets observed?
Y P Mz =125 Qa* 7]

Lf)

VA28 S L& \Q‘N a\nwsﬂ%b



57. Graph the function. State the domain, range, x-intercept(s), y-intercept(s), vertical asymptote(s),

and horizontal asymptote(s).

i
Fx) = = A VA X= 4 X=r4
x*-16 / \\ HA: V=3
/' ¥

\’p‘._ Xi"'\&-e“—‘@ e h =y x-intercept(s): C Q{QB
2  y-intercepi(s): (o oY

X — \\o 2 & ! 7

=y s y/”"\ g Domain: T x = *+4
Range: ("“ oo, 6 (3, 9‘%)
l w%yf :

58.  Graph‘the function. State the domain, range, x-intercept(s), y-intercept(s), vertical asymptote(s),

and horizontal asymptote(s).

5 ak VA: X="3 %x=3
f(x)= 2': 4. HA: tjj =
-’ x-intercept(s): (2, o)
2
WV = XW—9=2 y-intercept(s): (o . hqh)
Y= & 0 s Domain: W K+ 3
X=x Range: R
A4
59.  Simplify. x+5  2x+10 60.  Simplify. 33 _ 5x*-10x+5
X2 +10x+25 3x+15 2x*+8x+6 4x+12
2 (g2
201 G Q}(A—i)

2 & Wy-3) -

S (Y a-2%4Y)

E A 0t (B

%\&%3 5N

(o

5(x-)




3 6 N 16x° X 8
- = . l - = »
é1.  Simplify. x-2 x*-4 62.  Simplify 4x-8 x*-4 x+2
. 3 .1 .
5(3(*1) — (0_..__ X+2 * x—-2 \ LD \L/Z (X)‘/({)b(%) )5/9‘
QLX) k) - . . ___%
XS TS 4 (Y; 2) * S8
GO T (%D O&L) |
v tie e (rdie-t) A\ 52 W
i -2y BAv-lob ¥l — .
Bx | GEOD)
FOWD g —
63.  Simplify. x+1 . _6 r+6 1
_ xX*+4x+4 x*-4 64.  Simplify. r r+2
(X+ 206ty (v ) ré+4r+3
rf+r
(X’H) (-2 -’V (raWrsD I L S G o L AL S e L)
&) (D) (A DL O 2) sy (o Ty e CE;{;@
- 2 -—1 . .
W %m2 — lox—\2 S ey A
(wr 2 ~2) 2 — Ly (roh)
vy Y =TI =i 2 L 42 rﬂ_‘_g\ 75)
OO L\/.—*?JD + \
D oy el )
65. Solve. 18 - 6 = -‘i Lo XQA_—B) 66. Solve. X+2 X + 3 Lo ZLS)(ZX H)
x*-3x x-3 x BuNdioyz ' 2x+1 3 4x+2 E&EvNell V2 \
18 X 53 e M@y | B3 2 ~
X(xX~3) (x3W ¥ (X-3) (axr )t D@y 2.(2xxy)
Id— X = Sx —\g§ X v V2. = U® k2 v § x
V2 = W —\ ¢ Ne Sdukeay O = Yyt —ux—3 =D
23 = \¥ ) o= (2xs\N(2% -3)
3": W oexivaencewsy txwaitﬁuﬁx jz_
67. Solve. 1 + §. =27 e Gh( 3 68. Solve. 3 1 40 > ()@,_@_U—u;
4x-3 x ExNal D34, o x—4 x+4 x*_16
\ X S35 (O CeD) OB, e & uUS
(Ux-2)X Ylue-®y T (0 (A -3) O Gy OUUO(-d) R0 —)
2 — b TR
T el ~
O= %" - lszx 41§ Zx & 24 X &y or Y4 <X %‘1}
O= B> —3BUx +S NIRRT or
R ENCRO-ABS) A (T g os| T e’ Qg T (= —d) © (1R
2.G%) 2 7L -4 4 Iz

m
. M =1L s \‘
' e



